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Notes:

1	 Starting on 1 January 2018, the Bank has applied International Financial Reporting Standard No. 9 Financial Instruments 
(“IFRS 9”), published by the International Accounting Standards Board (“IASB”). 

2	 Non-interest income = net fee and commission income + net trading gains/(losses) + net gains/(losses) on �nancial asset 
transfers + other operating income.

3	 Return on average total assets = pro�t for the period ÷ average total assets × 100%, annualised. Average total assets = 
(total assets at the beginning of reporting period + total assets at the end of reporting period) ÷ 2.

4	 Return on average equity = pro�t attributable to ordinary shareholders of the Bank ÷ weighted average capital and reserves 
attributable to ordinary shareholders of the Bank × 100%, annualised. Calculation is based on No. 9 Preparation and 
Reporting Rules of Information Disclosure of Public Offering Companies — Calculation and Disclosure of Return on Average 
Equity and Earnings per Share (Revised in 2010) (CSRC Announcement [2010] No. 2) issued by CSRC.

5	 Net interest margin = net interest income ÷ average balance of interest-earning assets × 100%, annualised. Average balance 
is average daily balance derived from the Bank’s management accounts (unreviewed).

6	 Non-interest income to operating income = non-interest income ÷ operating income × 100%.

7	 Cost to income ratio is calculated in accordance with the Measures of the Performance Evaluation of Financial Enterprises 
(Cai Jin [2016] No. 35) formulated by the MOF.

8	 Credit cost = impairment losses on loans ÷ average balance of loans × 100%, annualised. Average balance of loans = (balance 
of loans at the beginning of reporting period + balance of loans at the end of reporting period) ÷ 2. Total loans are exclusive 
of accrued interest when used to calculate credit cost.

9	 Allowance for loan impairment losses = allowance for loans at amortised cost + allowance for loans at fair value through 
other comprehensive income.

10	 The data on investments as at 30 June 2019 and 31 December 2018 are presented under IFRS 9 and include �nancial assets 
at fair value through pro�t or loss, �nancial assets at fair value through other comprehensive income and �nancial assets at 
amortised cost. The comparative data of the previous reporting period has not been restated accordingly.

11	 Net assets per share = (capital and reserves attributable to equity holders of the Bank at the end of reporting period – other 
equity instruments) ÷ number of ordinary shares in issue at the end of reporting period.

12	 The capital ratios are calculated in accordance with the Capital Rules for Commercial Banks (Provisional) (Y.J.H.L. [2012] No. 1) 
and related regulations, adopting advanced approaches.

13	 Credit-impaired loans to total loans = credit-impaired loans at the end of reporting period ÷ total loans at the end of reporting 
period × 100%. Total loans are exclusive of accrued interest when used to calculate credit-impaired loans to total loans.

14	 Non-performing loans to total loans = non-performing loans at the end of reporting period ÷ total loans at the end of 
reporting period × 100%. Total loans are exclusive of accrued interest when used to calculate non-performing loans to total 
loans.

15	 Allowance for loan impairment losses to non-performing loans = allowance for loan impairment losses at the end of reporting 
period ÷ non-performing loans at the end of reporting period × 100%. Total loans are exclusive of accrued interest when 
used to calculate allowance for loan impairment losses to non-performing loans.

16	 Allowance for loan impairment losses to total loans = allowance for loan impairment losses at the end of reporting period ÷ 
total loans at the end of reporting period × 100%. Calculation is based on the data of the Bank’s domestic institutions. Total 
loans are exclusive of accrued interest when used to calculate allowance for loan impairment losses to total loans.


